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All Candidates' performance across questions

Question Title

Mean

Max Mark

Attempt %

134 29.7

10.2 50

59.4

18.3
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30 40 50 60 70
Facility Factor %

80
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section A

Human Rights Law

|1 | 0] Following some unpleasant racist incidents, Zara and Harry organised a march to
call for peace and reconciliation. The march was to be followed by an open-air
gathering in the town centre with music and dancing to celebrate harmony between
different cultures. Around a thousand people took part in the march. As they
approached the town centre, the police officer in charge of the march,
Superintendent Jones, received information that a loud group of individuals known to
be responsible for previous racist attacks was on its way to the town centre to
confront the marchers. Superintendent Jones therefore gave instructions to the
marchers to alter their route to avoid going anywhere near the town centre. Zara and
Harry protested that this would make it very difficult for people to take part in the
planned gathering. Superintendent Jones told them that, with great regret, he had
banned their gathering as well. In the town centre itself, police officers ordered
everyone who had already arrived for the gathering to leave the town centre
immediately. Those who objected were arrested for taking part in a banned assembly
and brought before the magistrates the following day.

In light of reported case law and other sources of law, advise Zara and Harry as to
whether the police were acting within their powers to control these public order
situations. [50]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In advising Zara and Harry candidates are expected to demonstrate knowledge and
understanding of legal rules and principles relevant to the subject of public order.
Candidates are expected to apply the full range of legal rules and principles to Zara
and Harry’s situation, including the Public Order Act 1986 and relevant case law, in
order to present a legal argument.

The response might consider issues such as:

e Public Order Act 1986 and Criminal Justice and Public Order Act 1994

e Unders.11 of the POA 1986, Zara and Harry, the organisers of the procession
are required to give notice six clear days in advance stating the date of the
procession, the start time, the proposed route and the name and address of at
least one person organising it. The notice must be delivered by hand or by post to
a police station in the area where the procession is to start. Failure to give notice
is a summary offence punishable by a fine.

e ltis not the case that organisers require permission from the police, nor do they
have to wait for police permission before going ahead. Failure to give notice is an
offence as above, but the procession is not illegal. Under s.13 the Chief
Constable can apply to the district council to ban all processions of a particular
type in the area for up to three months, subject to approval by the Home
Secretary: organising or participating in a banned procession is a summary
offence under s.13.
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Section 11 is one of the few sections of the POA 1986 which did not give the
police a power to arrest, but since the SOCPA amendments to PACE 1984, s.24,
the police have power to arrest for any offence.

Powers of police in relation to processions: s.12 of the POA 1986. Power to
impose conditions on processions: s.12(1) — the “four triggers” — where the senior
officer present at the scene reasonably believes that the procession may result in
serious public disorder, serious damage to property, or serious disruption to the
life of the community, or that the purpose of the procession is intimidation.
Conditions which can be imposed: the senior officer can impose such conditions
as appear to him necessary to prevent the disorder, damage, disruption or
intimidation that is feared. There is no requirement that the officer’s decision be
based on reasonable grounds. There is no list of conditions that can be imposed,
but the section specifically mentions that they may include the route to be
followed, and a condition not to enter a given public place. Organisers of the
procession under s.12(4) and those who take part under s.12(5) commit an
offence if they refuse to comply with a condition.

Power to impose conditions on assemblies are contained in s.14 and are virtually
the same as in s.12. s.14 only applies to static assemblies: DDP v Jones 2002,
so cannot be used to impose conditions on movement — but in Jones the court
held it could sever any conditions which was ultra vires and leave the other
conditions intact. There is no power for the senior officer at the scene to ban an
assembly, so strictly speaking Superintendent Jones is acting outside of his
powers. However, the order to leave the town centre may be treated as a
condition imposed under s.14, as in Brehony v CC of Greater Manchester, DPP v
Jones, Broadwith v CC of Thames Valley Police, etc. The organiser and
participants in an assembly commit an offence by refusing to comply with a
condition: s.14 (4) and (5).

Under s.14A-C, inserted by the CIPOA 1994, assemblies which are classed as
trespassory may be the subject of an advance ban. The assembly here could be
classed as trespassory — it is on the highway (s.14A(9)), and one of the grounds
on which an assembly can be banned is that there is reason to believe that it may
result in serious disruption to the life of the community. Once a ban is in force, it
is an offence knowingly to organise or participate in a banned assembly. The
power to ban lies with the chief constable, subject to approval by the Home
Secretary in London and the local authority elsewhere. Convention rights: the
rights to freedom of expression (Art. 10) and freedom of assembly (Art. 11) must
be taken into account.

Discussion of breach of the peace; In Austin -v- Metropolitan Police
Commissioner, the House of Lords held that the practice of confining
demonstrators (“kettling”) was lawful as an exercise of the power to impose
conditions under s.14, even if the police did not have these in mind. There was no
breach of Art.5: freedom of movement, where the confinement was only for the
time necessary to prevent serious public disorder; if a cordon was maintained
beyond this merely to punish the demonstrators, it would be a breach of Art.5.





Band | Marks AO1: Demonstrate knowledge and understanding of legal
rules and principles

4 16-20 | ® Excellent, detailed knowledge and understanding of legal
rules and principles relating to the law of public order.

3 11-15 | ® Good knowledge and understanding of legal rules and
principles relating to the law of public order.

> 6-10 | °® Satisfactory knowledge and understanding of legal rules and
principles relating to the law of public order.

1 1-5 ¢ Basic knowledge and understanding of legal rules and
principles relating to the law of public order.

0 Response not creditworthy or not attempted.
AO2: Apply legal rules and principles to given scenarios in
Band | Marks | order to present alegal argument using appropriate legal
terminology
e Excellent, detailed application of legal rules and principles to
Zara and Harry’s situation.

5 25-30 | ¢ Excellent presentation of a legal argument, using appropriate
legal terminology, case law and other legal authorities relating
to public order law.

e Very good application of legal rules and principles to Zara and
Harry’s situation.

4 19-24 | e« Very good presentation of a legal argument using appropriate
legal terminology, case law and other legal authorities relating
to public order law.

e Good application of legal rules and principles to Zara and
Harry’s situation.

3 13-18 | ¢ Good presentation of a legal argument using appropriate legal
terminology, case law and other legal authorities relating to
public order law.

e Satisfactory application of legal rules and principles to Zara
and Harry’s situation.

2 7-12 | o Satisfactory presentation of a legal argument, using some
appropriate legal terminology, case law and other legal
authorities relating to public order law.

e Basic application of legal rules and principles to Zara and

1 1-6 Harry’s situation.

e Basic presentation of a legal argument, using minimal legal
terminology relating to public order law.
0 Response not creditworthy or not attempted.
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Clear introduction 



Excellent structure, clearly states the law for A01 and then applies for A02 
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Excellent knowledge shown of section 11; try to avoid the use of the first person, I, say instead, therefore it could be argued......



well done explaining and applying section 2, could include a description of the 4 triggers here 
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consideration here of public order offences e.g. section 4, could also consider sections 1, 2, 3 and particularly 5 



Good to see the Police, & Sentencing Act 2022 here, try to write in full the first time of mentioning 
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discuss section 14 here 



confusion here, section 13 is banning of marches 
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Could have also discussed breach of  the peace, nevertheless this is still a band 4 answer for A01 and a band 5 answer for A02
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Clear introduction



Good structure, clearly states the law for A01 and then applies for A02 



well done explaining the 4 triggers 
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Good A02, considering which trigger may apply 



Well done including Section 13 - again, following the correct structure, stating the law and then applying to the scenario 
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Again, well done including trespassory assemblies -  section 14 



Confusion here, section 24 of PACE is the relevant section for arrest and this was not needed in this answer as the focus is on public order only 



Attempt here to discuss breach of peace, this could have been dealt with in a separate paragraph and A02 extended further
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Overall, very good knowledge and application. The candidate could have considered breach of the peace in more depth and briefly any potential public order offences that may apply  e.g. section 5 
Band 4 for A01, band 4 for A02 






















Answer two questions in total.
Section A
Human Rights Law
Answer one question from this section if you have studied this area of law.

The questions which follow require you to:
* demonstrate knowledge and understanding of legal rules and principles;
* apply legal rules and principles to the scenario; and
e present a legal argument using appropriate legal terminology.

Credit will be given for the use of relevant supporting case law and authority.

Either,

Following some unpleasant racist incidents, Zara and Harry organised a march to
call for peace and reconciliation. The march was to be followed by an open-air
gathering in the town centre with music and dancing to celebrate harmony
between different cultures. Around a thousand people took part in the march.

As they approached the town centre, the police officer in charge of the march,
Superintendent Jones, received information that a loud group of individuals known
to be responsible for previous racist attacks was on its way to the town centre to
confront the marchers. Superintendent Jones therefore gave instructions to the
marchers to alter their route to avoid going anywhere near the town centre. Zara
and Harry protested that this would make it very difficult for people to take part

in the planned gathering. Superintendent Jones told them that, with great regret,
he had banned their gathering as well. In the town centre itself, police officers
ordered everyone who had already arrived for the gathering to leave the town
centre immediately. Those who objected were arrested for taking part in a banned
assembly and brought before the magistrates the following day.

In light of reported case law and other sources of law, advise Zara and Harry as
to whether the police were acting within their powers to control these public order
situations. [50]
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Daniel, a sixth-form student, was on his lunch break and he was wandering around the
shops in town. He was observed by two police constables, PC Fenn and PC Owen, who
noticed the school's logo on his sweatshirt and formed the opinion that Daniel was
probably up to no good. PC Fenn took Daniel by the arm and said, "Alright, lad, let's see
what you've got." He then proceeded to search Dan in front of the passers-by. Finding
nothing, he was about to let Daniel go when PC Owen commented that the school which
Daniel attended had been the scene of a recent stabbing. The two officers then told
Daniel that he was going to the police station so he could be questioned about the
stabbing. At the station Daniel was beginning to lose his temper, and when he was taken
before the custody officer, the shouted: "I know my rights; I'm studying law." The custody
officer replied: "Well, you won't want a solicitor, then," and put Daniel straight into a cell.
Daniel sat in the cell waiting to be interviewed before he was taken out and forced to give
his fingerprints. He was then questioned for twelve hours before being returned to the cell
for the night. Daniel asked for his mother to be contacted, but the detective thought that
Daniel would be more likely to confess if he was refused contact with his family. The
guestioning continued all next day. After being in custody for more than 42 hours, Daniel
confessed to the stabbing.

In the light of reported case law and other sources of law, advise Daniel as to the legality
of the actions of the police. [50]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all the
material mentioned below. Each answer will be assessed on its merits according to the
assessment grid and the indicative content. Examiners should seek to credit any further
admissible evidence offered by candidates.

In advising Daniel candidates are expected to demonstrate knowledge and
understanding of legal rules and principles relevant to the subject of police powers.
Candidates are expected to apply the full range of legal rules and principles to Daniel’s
situation, including the Police and Criminal Evidence Act 1984 and relevant case law, in
order to present a legal argument.

The response might consider issues such as:

e Police and Criminal Evidence Act 1984

e Power to stop and search: ss 1-3 and Code A

o Applying the requirement for reasonable suspicion to the scenario: Code A — should
not be based on personal factors alone.

e Applying the requirements for a valid search to the search of Daniell: information to
be given under s.2; failure renders search invalid: Osman

e Procedure following search: s.3

e Applying the power of arrest to the actions of PC Fenn and Owen: s.24 as amended
by the Serious Organised Crime and Police Act 2005, S.110, and code G police may
arrest anyone who is, or is reasonably suspected to be, about to commit an offence;
or in the act of committing an offence; or is guilty of committing an offence; or is
reasonably suspected to be guilty of having committed an offence

o Arrest power must only be exercised if PC Fenn and Owen have reasonable grounds
to believe it is necessary s.24(5) the grounds are: to enable the name and address of
the person to be ascertained if it is not known, or the police believe it to be false; to
prevent the person causing physical injury to himself or another, suffering physical
injury, causing loss or damage to property, committing an offence against public
decency, or causing unlawful obstruction of the highway; to protect a child or other
vulnerable person; to allow the prompt and effective investigation of the offence of the
conduct of the person; to prevent any prosecution for the offence being hindered by
the disappearance of the person

© WJEC CBAC Ltd. 6





o Applying the procedural requirements of a valid arrest: should be informed of the fact
he is under arrest and also the ground for arrest (s.28) and he should be cautioned

Treatment of Daniel in police custody: Code C

Daniel's right to have someone informed of his arrest: s.56

Daniel's right to legal advice: s.58

Daniel's time limits on detention: s.41 - 44 allows police to authorise detention up to

36 hours but further detention up to 96 hours requires authorisation by magistrates
¢ Daniel's detention should be reviewed after 6 hours and then every 9 hours by a
review officer not involved in the case- s 40
o Daniel’s right to an appropriate adult: s.57 if he is a juvenile (as the scenario
suggests) or a vulnerable adult

Whether the confession is admissible sections 76 & 78 PACE

Band | Marks AO1: Demonstrate knowledge and understanding of legal rules
and principles

4 16-20 | ® Excellent, detailed knowledge and understanding of legal rules and
principles relating to police powers.

3 11-15 | ® Good knowledge and understanding of legal rules and principles
relating to police powers.

> 6-10 |° Satisfactory knowledge and understanding of legal rules and
principles relating to police powers.

1 1-5 e Basic knowledge and understanding of legal rules and principles
relating to police powers.

0 Response not creditworthy or not attempted.
Band | Marks AO2: Apply legal rules and principles to given scenarios in order
to present a legal argument using appropriate legal terminology
o Excellent, detailed application of legal rules and principles to
Daniel’s situation.

5 25-30 | ¢ Excellent presentation of a legal argument, using appropriate legal
terminology, case law and other legal authorities relating to the
powers of the police.

e Very good application of legal rules and principles to Daniel’s
situation.

4 19-24 | e Very good presentation of a legal argument, using appropriate
legal terminology, case law and other legal authorities relating to
relating to the powers of the police

e Good application of legal rules and principles to Daniel’s situation.

3 13-18 | ® Good presentation of a legal argument, using appropriate legal
terminology, case law and other legal authorities relating to relating
to the powers of the police.

e Satisfactory application of legal rules and principles to Daniel’s
situation.

2 7-12 | ¢ Satisfactory presentation of a legal argument, using some
appropriate legal terminology, case law and other legal authorities
relating to relating to the powers of the police.

e Basic application of legal rules and principles to Daniel’s situation.

1 1-6 Basic presentation of a legal argument, using minimal legal
terminology, relating to relating to the powers of the police.

0 Response not creditworthy or not attempted.

© WJEC CBAC Ltd.
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and Article 6 - fair trial, art 3 not to be subjected to inhumane or degrading treatment...



confusion with arrest here under section 1, reasonable suspicion that they may find, offensive weapons, stolen property 



More detail needed as to what is meant by reasonable suspicion under Code A 



more needed for A02 - application of  what can and cannot be reasonable suspicion 



All relevant sections for stop and search included, though a little brief for section 1 and Code A in particular 
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Arrest is too brief, section 24, as amended by s.110 of SOCPA and necessity tests should be explained and applied and then move on to explain and apply section 28



confusion here, Code B is search of premises
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relevant section for fingerprints is section 61 



Good attempt at explaining and applying the restrictions in section 56 and 58, they can also only be withheld if the suspect is in custody for an indictable offence 
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Time limits done well 



also section 76



Overall good structure, explaining the law and applying the the scenario, though the application could have been extended further in parts e.g. section 1 and section 24.
The candidate could conclude, briefly with potential remedies against the police e.g. complain to the IOPC; sue for breach of human rights, namely Arts 3, 5, 6 
Band 4 for A01; band 4 for A02 




























Answer two questions in total.

Section A

Human Rights Law

Answer one question from this section if you have studied this area of law.

The questions which follow require you to:

demonstrate knowledge and understanding of legal rules and principles;
apply legal rules and principles to the scenario; and
present a legal argument using appropriate legal terminology.

Credit will be given for the use of relevant supporting case law and authority.

Daniel, a sixth-form student, was on his lunch break and he was wandering
around the shops in town. He was observed by two police constables, PC Fenn
and PC Owen, who noticed the school’s logo on his sweatshirt and formed the
opinion that Daniel was probably up to no good. PC Fenn took Daniel by the arm
and said, “Alright lad let’s see what you’ve got”. He then proceeded to search
Daniel in front of the passers-by. Finding nothing, he was about to let Daniel go
when PC Owen commented that the school which Daniel attended had been

the scene of a recent stabbing. The two officers then told Daniel that he was
going to the police station so he could be questioned about the stabbing. At the
station Daniel was beginning to lose his temper, and when he was taken before
the custody officer, he shouted: “| know my rights; I’'m studying law”. The custody
officer replied: “Well, you won’'t want a solicitor then,” and put Daniel straight

into a cell. Daniel sat in the cell waiting to be interviewed before he was taken
out and forced to give his fingerprints. He was then questioned for twelve hours
before being returned to the cell for the night. Daniel asked for his mother to be
contacted, but the detective thought that Daniel would be more likely to confess if
he was refused contact with his family. The questioning continued all the next day.
After being in custody for more than 42 hours, Daniel confessed to the stabbing.

In the light of reported case law and other sources of law, advise Daniel as to the
legality of the actions of the police. [50]

© WJEC CBAC Ltd. (1150U30-1)
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Dean looked after his mother, who was old and weak. When visiting Dean’s mother
the family GP, Dr. Price, noticed that Dean seemed anxious and tired and was
complaining of bad headaches. Dr. Price examined Dean and diagnosed he was
suffering from depression. She also suspected that Dean might be showing
symptoms of an incurable brain disease, so she arranged for Dean to have some
tests, to check whether Dean’s mental functioning was becoming impaired. However,
before this could be done, Dean was arrested for the murder of his mother. The
explanation which Dean gave for his actions was that his mother always said, when
she wanted to go to bed, “It's time to sleep now.” On the night of his mother’s death,
Dean has put his mother to bed as usual and watched her fall asleep. But later in the
night he kept hearing his mother’s voice in his head, saying over and over again, “It's
time to sleep now.” Believing that his mother was still awake and talking to him, Dean
had gently placed a pillow over his mother’s face thinking that it would help him fall
asleep.

Advise Dean whether he may have any defences to a charge of murder, applying
your knowledge of legal rules and principles. [50]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In advising Dean candidates are expected to demonstrate knowledge and
understanding of legal rules and principles relevant to the possible defences
available here to a murder charge. Candidates are expected to apply the full range of
legal rules and principles to Dean’s situation, including the defences of insanity and
diminished responsibility and relevant case law, in order to present a legal argument.

The response might consider issues such as:

e Possible defences: insanity, diminished responsibility.

¢ Insanity: M'Naghten Rules — defect of reason, due to disease of the mind, D does
not know the nature and quality of his/her act or else does not know that it was
(legally) wrong (Windle). Insanity requires an internal cause: examples of cases,
e.g., Hennessey (diabetes); Burgess (sleep disorder); Sullivan (epilepsy);
Thomas (sleep disorder) — contrast Clarke (absent-mindedness); Quick (insulin).
Nature and quality of the act: Dean not aware that his action is one of killing -
Codere. Insanity is for the jury to decide, but they may not acquit except on the
evidence of two medical practitioners: Criminal Procedure (Insanity and Unfitness
to Plead) Act 1991. Insanity is a complete defence: under the Criminal Procedure
(Insanity and Unfitness to Plead) Act 1991 the court may make a hospital order, a
supervision order or grant a complete discharge, but not where the charge is
murder.

e Diminished responsibility; not a complete defence; reduces murder to voluntary
manslaughter; allows judge discretion in sentencing. Diminished responsibility
now governed by Coroners and Justice Act 2009, s.52. Elements of defence: D is
suffering from an abnormality of mental functioning which arose from a recognise
medical condition; the abnormality of mental functioning must be a significant
contributory factor to the killing, and the abnormality of mind must have
substantially impaired D’s ability to (a) understand the nature of his/her conduct,
or (b) form a rational judgment, or (c) exercise self-control. Need for a recognised
medical condition: query whether depression as in Dietschmann would qualify

¢ Credit relevant citation.
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Band Marks AOL1: Demonstr_ate knowledge and understanding of legal
rules and principles
o Excellent, detailed knowledge and understanding of the legal

4 16-20 e .

rules and principles relating to defences to a murder charge.
e Good knowledge and understanding of the legal rules and

3 11-15 S .
principles relating to defences to a murder charge.

e Satisfactory knowledge and understanding of the legal rules

2 6-10 T .
and principles relating to defences to a murder charge.

1 1-5 ¢ Basic knowledge and understanding of the legal rules and
principles relating to defences to a murder charge.

0 Response not creditworthy or not attempted.
AO2: Apply legal rules and principles to given scenarios in
Band Marks | order to present a legal argument using appropriate legal
terminology
o Excellent, detailed application of legal rules and principles to
Dean’s situation.

5 25-30 | ¢ Excellent presentation of a legal argument, using appropriate
legal terminology, case law and other legal authorities
relating to defences to a murder charge.

e Very good application of legal rules and principles to Dean’s
situation.

4 19-24 | ¢ Very good presentation of a legal argument, using
appropriate legal terminology, case law and other legal
authorities relating to defences to a murder charge.

¢ Good application of legal rules and principles to Dean’s
situation.

3 13-18 | ¢ Good presentation of a legal argument, using appropriate
legal terminology, case law and other legal authorities
relating to relating to defences to a murder charge.

o Satisfactory application of legal rules and principles to Dean’s
situation.

2 7-12 | o Satisfactory presentation of a legal argument, using some
appropriate legal terminology, case law and other legal
authorities relating to defences to a murder charge.

e Basic application of legal rules and principles to Dean’s
situation.

1 1-6 . . . -

e Basic presentation of a legal argument, using minimal legal
terminology, relating to defences to a murder charge.
0 Response not creditworthy or not attempted.
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When answering a defences to homicide question, the best approach is explain the offence first, murder definition, actus reus and mens rea and then explain and apply potential defences



yes, insanity is a potential defence, best to start with the partial defences to murder first, e.g. DR and loss of control, which may or not apply and then consider the general  defences 
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The candidate has approached this well, explaining each element of the defence in turn and applying each in turn, with excellent use of case law to support  
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Lacking in cases to support each element of the defence of diminished responsibility 
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avoid the use of the first person, I, say instead, it could be argued 



Always worth considering loss of control, as it is a partial defence to murder, which along with DR, if pleased successfully will lower the charge to voluntary manslaughter, however, DR and insanity more relevant on the facts of the scenario 
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LA A S AR z_as T | * Good attempt at identifying the relevant
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offence of murder (for a defences question,
the offence can be explained and applied
briefly) and also lacked case law to support
DR. Band 3 for AO1 and Band 4 for A02



2 triggers not fully explained 



Good attempt at identifying the relevant defences, lacked detail at the start on the offence of murder (for a defences question, the offence can be explained and applied briefly) and also lacked case law to support DR. Band 3 for A01 and Band 4 for A02 
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Good introduction, even for a defences focused question, it is the best approach to start with the offence first as done here 



could have been a little clearer here - factual causation, but for test, state and apply 
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Good attempt to summarize legal causation, could have briefly included some cases for operating and substantial cause e.g. R v Smith; intervening acts; R v Cheshire, R v Jordan  



virtual certainty test from Woollin



missing Coroners and Justice Act 2009 s.52; also explain this is a partial defence; voluntary manslaughter; only used for murder 
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confusion here with insanity 



Attempt at explaining and applying DR, but the candidate has not clearly gone through each element of the defence in turn with case law to support 



as above, confusion here, Coroners and Justice Act 2009
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Always worth considering loss of control, as it is a partial defence to murder, which along with DR, if pleaded successfully will lower the charge  to voluntary manslaughter, however, DR and insanity more relevant on the facts of the scenario 
A01 - Band 3; A02 - Band 4
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Section C
Criminal Law
Answer one question from this section if you have studied this area of law.
The questions which follow require you to:
* demonstrate knowledge and understanding of legal rules and principles;
* apply legal rules and principles to the scenario; and
e present a legal argument using appropriate legal terminology.

Credit will be given for the use of relevant supporting case law and authority.

Dean looked after his mother, who was old and weak. When visiting Dean’s
mother the family GP, Dr. Price noticed that Dean seemed anxious and tired and
was complaining of bad headaches. Dr. Price examined Dean and diagnosed
that he was suffering from depression. She also suspected that Dean might be
showing symptoms of an incurable brain disease, so she arranged for Dean to
have some tests, to check whether Dean’s mental functioning was becoming
impaired. However before this could be done, Dean was arrested for the murder of
his mother. The explanation which Dean gave for his actions was that his mother
always said, when she wanted to go to bed, “It's time to sleep now.” On the night
of his mother’s death, Dean put his mother to bed as usual and watched her
fall asleep. But later in the night he kept hearing his mother’s voice in his head,
saying over and over again, “It's time to sleep now.” Believing that his mother was
still awake and talking to him, Dean gently placed a pillow over his mother’s face

thinking that it would help her fall asleep.

Advise Dean as to whether he may have any defences to a charge of murder,

applying your knowledge of legal rules and principles.
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